Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Summer Examination-2019

Subject Name : Energy Audit and Conservation Techniques

Subject Code : 2TEOSEAC1 Branch : Diploma (Electrical)

Semester : 5 Date : 16/03/2019 Time : 10:30 To 01:30 Marks :70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams & figures (if necessary) at right places.

(4) Assume suitable & perfect data if needed.

Q-1 Attempt the following questions

a)H,0CO,
b)H,CO4
¢)2HCO;
d)3H,CO

b. Full form of OLTC is

a)on load tap changer
b)off load tap changer
c)on load tap charging
d)off load tap charging
C. Simple interest I=..............

a)PR/100
b)PN/100
c)PRN/100
d)PRN/1000
d. Payback period=..............
a)1/ROI
b)ROI
¢)1/Sinking fund
d)Sinking fund

e. 5 star means unit yearly used
a)501
b)400
€)626
d)728
f.o % losses occurs in transmission and distribution
a)22 %
b)14%
€)8%
d)88%
g. Value of form factor is............
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a)l.11
b)1.01
c)0.01
d)none of above
If frequency is 50 Hz then what is the time period for it?
a)50 sec
b)2 sec
€)0.02 sec
d)D) 0.2 sec
Full form of GUVNL is................
a)Gujarat urja vikas nigam limited
b)Gujarat urja vij nigam limited
c)Guijarat urja voltage nigam limited
d)none of above
Which gas causes global warming among the following?
a)CFC
b)SO2
c)02
d)Argon
Greenhouse effect refers to increase in
a)Global temperature
b) Carbon monoxide
c)atmospheric pressure
d)Greenery
Which of the following is not a Primary Energy Source?
a)Oil
b)Natural Gas
c)Electricity
d)Wood

What is the overall efficiency of thermal power plant in India?

a)22-27%

b)28-35%

€)35-40%

d)40-45%

Which Quantities are measured by Volt Meter?

a)Active Reactive power
b)Power factor
c)Frequency
d)voltage

Attempt any four questions from Q-2 to Q-8

Attempt all questions
Explain ABCD formula
Explain Acid Rains with appropriate diagram
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Q-3

Q-4

Q-7

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

Attempt all questions
Explain Straight Line method for finding out Depreciation Cost.

Initial Value of One Equipment is Rs 65,000 . After Use full life of 5 Years Scrap Value is Rs. 5000.
Calculate Annual Depreciation Charges using Diminishing Value Method.

Attempt all questions
Explain co generation

Explain small hydro power plant with its advantages

Attempt all questions
Write Main Elements and its Auxiliaries for Different types of Power station.
Give Function /Use of Following Instruments.

1.Rota Meter

2.Anemometer

3.Gas Analyzer

4.Clamp-On-Meter

5.Pitot Tube

6.Power Analyzer

Attempt all questions

Give types of Energy audit and explain it

An energy conservation project has a initial cost of Rs. 160x 105 and its solvage value is
16x105 after its useful life of 20 years. What would be its valuation. Half way through its life
based upon the following:

A. Straight line depreciation method

B. Sinking fund deprecation at 6% interest compound annually

Attempt all questions
Explain term pay-back period and return of investment.
List various Measuring Instruments and give its function.

Attempt all questions
Explain Greenhouse effect.
What is tariff? Explain objectives for it.
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Q-1

Attempt the following questions

* Hz0 + COz=.oorrrene.

a)H20C02
b)H,CO;3
¢)2HCO;3
d)3H,CO

OLTC of Y3 oltH
e)ullal AlS U Aoy
fulls cAls U Ao
g)allet Al 2U UKL
h)alls Als U ALB0L

AE U I=............

e)PR/100
f)PN/100
g)PRN/100
h)PRN/1000

Aas ARas =..............
e)1/ROI
fROI
g)1/RsloL §s
h)RSlaL §s
5 AR HdAol Yolle auriel As ay i
€)501
)400
9)626
h)728
glotH{lot wa SlEloyat i ... % B2l Ay UAA D
€)22 %
f)14%
9)8%
h)88%
g ¥seR ofl Bt ...
e)1.11
f)1.01
9)0.01

h)GUR Hil 818 <1}

ol wlg(Q Uosex &l Al el USlas 32l uUd ?

e)50 sec
)2 sec
g)0.02 sec
h)0.2 sec
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GUVNL of Yl ollH : ..
e)d[%RAcl Gt (Asiy oflont [AHI2s

f)oLsAct Gl (Ao oflo @Qx{l2s
9)20%RUc Gl dleae oflod Q{2

h)Sle ol

oclold alfol MR Yyl ScUHER aly s2?

e)CFC
f)S02
g)02

h) 40Ut
oflot 6LGU UUR Aell Al AR B?
)0l AlUHLet
f)stolol HlallsU s
g)cllcdlalRRL of £l
h)AA A3l
o{lAetl Hiell 52 waulls Gt A otell? 3
a)ad
b)ARURA A~
c)(@osofl

d)alss

R ofl vieR wA UleR wellod ofl AR A A AER2UR 3ecll B2

£)22-27%
)28-35%
9)35-40%
h)40-45%

dlee Hler ad s&§ g2l il asia & 2
e)Alea Al a ulaR
HUlaR ¥s2?
g)ugl(d
h)clc2es

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

(A)
(B)

(A)
(B)

Attempt all questions
ABCD 511ctl amesndl

202 Al WA ARS dRUE UHAA

Attempt all questions

YAURL ofl 2Ll sRcll U2 82 Aleto(l Il UMt
As ssAUN ol Sellallad (U 3. sU,000 B W Aol GUA[ ctss U ay B. Asll
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Q-4

Q-5

Q-6

Q-7

Q-8

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

A% (U 3 4,000 B. Al dotl UR cldldl s aRA Sllelellor Acgjell dla 0.

Attempt all questions
5l iUl AU A

A LBl UlER Wllod doll SIRAEL UL UMl

Attempt all questions
EL EL USIR oll UlcR R¥ot HIZ ol Yyl clect el WA AHx1c

o{lAetl ALl ol GUNDL/ ST AWl

1.2t Hle?

2. 9(1HleR
3.0 AlABRR
4.5QU-vllet Hl2R
s.Ulele 2yu

6. UlcR AALABRR

Attempt all questions
Wotof w12 oll UslA il Aol AHestal.

As ot AUA WBs2 ofl 233U ofl (1 3 160x 105 &. wal 20 Ay oll GUA([ duRia olte Asll
eloUR (33 3. 16x105 B. Al Ul YUBs2 of 10 aM olle 3 Yt 632 A oA el Yool AL .
12 Alget ofl YRl ol a1l utudl

2.RBaL 5 ol uARL ol 2Rl utudl ardls 625l ol €2 UsgER cals ol ARl YHdl

Attempt all questions
U As VIS ual edl AU Bedrog ofl cAlVAL B Aol UHXLA

EL YEL USIR all AIoL Alboll oll ol vl €8 of sl AU
Attempt all questions

flot SlGU WU UM
23ls Wed 9?qall HIZ oll LAA Al

Page6 || 6

(14)
(")

(")

(14)
(")

()

(14)
(7)

(7)

(14)
()

(7)

(14)
()

()



